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A TEST OF BASIC UNDERSTANDINGS IN ARITHMETIC 
D ire c tio n s  fo r  the a d m in is tra tio n  of the  t e s t

T h i s  t e s t  c o n t a i n s  63  i t e m s  o f  t h e  m u l t i p l e - c h o i c e  v a r i e t y .  
F o u r  a n s w e r s  a r e  g i v e n  f o r  e a c h  q u e s t i o n ,  a n d  o n l y  o n e  o f  t h e s e  i s  
c o r r e c t .  T h e  c h i l d  i s  t o  c h o o s e  t h e  o n e  a n s w e r  w h i c h  h e  t h i n k s  i s  
c o r r e c t  a n d  t h e n  t o  d r a w  a  c i r c l e  a r o u n d  i t s  l e t t e r  ( a , ๖ , c ,  o r  d ) .

Answers to  the  examples in  the boxes to  the r ig h t  of ques­
t io n s  a re  not n ec essa ry . Most schoo ls w i l l  probably  not have i n t r o ­
duced decim al f r a c t io n s  as y e t in  grade fiv e* * . However, a few 
c h ild re n  may be ab le  to  answer some of th e  q u es tio n s  and fo r th i s  
re aso n , they a re  being in c lu d ed .
D irec tio n s  to  be read  to  the c h ild re n

This i s  a t e s t  to  see how w ell you understand  the  number 
system and the processes*** used in  a r i th m e tic . Read each q u es tio n  
c a r e f u l ly .  Then choose the one answer which you th in k  i s  c o r re c t  
and draw a c i r c l e  around the l e t t e r  (a , b , c , or d) which i s  in  f ro n t 
of the answer which you have chosen.

A TEST OF BASIC UNDERSTANDING IN ARITHMETIC*
NAME............................................................AGE......................................................
BIRTHDATE.................................................SCHOOL................................................

[Day Month Year]
D ire c tio n s . Read each q u estion  c a r e f u l ly .  Choose the one answer

which you th in k  i s  c o r re c t  and draw a c i r c l e  around i t s  
l e t t e r  (a , b, c , or d ) .

I t  was f e l t  th a t  ex p ress io n s such as " la r g e s t  number" " sm a lle s t number", " c a r r ie d  number" in  common use in  E nglish  and in  
New York s t a t e  schoo ls had to  be used in  o rder to avoid m isunder­s tan d in g s  on the p a r t  of the p u p ils . Hence, the language in  c e r ta in  
of the t e s t  item s i s  not as p re c ise  as might be d e s ire d .
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1 . What i s  the sm allest number th a t can be w ritten  by using the 
fig u res  4, 3, ,ๆ 2, 5 ?
a) 12435 b) 12543 c) 1 2 3 4 5  d) 1 2 4 5 3

2. What is  the la rg e s t  number th a t can be w ritten  by using the 
fig u res  7, 2, 5, 3, 6 ?
a) 7 6 5 2 3  b) 7 6 3 5 2  c) 7 6 5 3 2  d) 7 6 3 2 5

3 . In the number 2 0 9 4 5 6 , which fig u re  i s  in  the ten-thousands’ place?
a) 2 b) 0 c) 9 d) 4

4. How does the 2 on the r ig h t  compare with the 2 on the l e f t  in  
the number 212 ?
a) 10 times as g rea t b) 100 times as g rea t
c) 1/10 as g rea t d) 1/100 as g rea t

5 . Which number below i s  equal to 1 hundred, 9 ten s , and 11 ones**?
a) 1 9 1 1  b) 201 c) 1 9 1  d) 1101

6. I f  a Eero*** were placed between the 3 and the 7 in  the number 
37, what e ffe c t would th is  have ?
a) I t  would make both the 3 and the 7 ten times as g re a t.
b) N either the 3 nor the 7 would be changed.
c ) The 7 would remain unchanged but the 3 would become 10

times as g re a t.
d) The 7 would remain unchanged but the 3 would become 100

as g re a t.
What are the p a rts  of 15 4 6  ?
a) 1 5  hundreds, 4 tens,and  6 ones b) 1 5  hundreds and 46 tens
c ) 1 5  hundreds,40 tens,and  6 ones d) 1 5  tens and 46 ones

**Throughout th e  t e s t  fo r  th e  E n g lish  p u p i l s ,  " u n i t s "  r a t h e r  
th a n  "ones"  was u sed .

* * * *"Nought" r a t h e r  th a n  " z e ro "  was used  on th e  t e s t  fo r  th e  
E n g lish  p u p i l s .
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8. In the ad d itio n  a t the r ig h t ,  what i s  the "carried "  number ? 
a) 2 ones ๖) 20 ones c) 2 tens d) 1 ten

16

29
9. What would happen to the sum of the 4 numbers a t the r ig h t i f  

you put the 70 ๐ท the bottom and the 35 on top ? _
a) The sum would be le s s  than 200.
b) You would need to add to find  out i f  there  i s  a

d iffe ren ce  between the 2 sums.
c ) The sum would be g rea te r i f  the 2 numbers were

interchanged.
d) There would be no change in  the sum.

70 
37 
89 
35 !

0ๆ . I f  one p a rt of 20 i s  5 5 what i s  the o ther p a rt ?
a) 2 5  b) 15 c) 1/4 d) 4

าา. Which statem ent i s  co rrec t fo r the su b trac tio n  a t the r ig h t
a) The remainder w ill  be more than 20000.
b) The remainder plus 17 6 0 9  w ill  equal 3 0 8 6 4 .
c) The remainder minus 17 6 0 9  w ill equal 3 0 8 6 4 .
d) 30864 minus the remainder w ill  be more than 20000.

12. In the m u ltip lic a tio n  a t the r ig h t ,  what i s  the next step?
a) 2 ones are ca rr ie d  b) 2 tens are added to 3 ten s ,
c) 2 tens are added to  1 8  tens d) None of th ese .

30864^
-17609)

34

x_6
- 4

1 3 . In which one must a hundred be carried ?
1) 3143, b) 5 2 1 4 , c) 1401. d) 1 2 3 3 ,



71

4ๆ. What i s  a quick way of combining severa l groups of equal size? 
a) Addition ๖) S ubstraction  c) M u ltip lica tio n

d) D ivision
15» What must you do to find  the cost of sev e ra l ob jects each of 

which i s  p riced  d if fe re n tly  ?
a) Add b) Subtract c) M ultiply d) Divide

16 . I f  the 250  in  the m u ltip lic a tio n  a t the r ig h t were doubled, 
what would the answer be ?
a ) 8000 ๖) 2000 c ) 6000 d ) 9000

16 x 250  = 4 0 0 0

1 7 . I f t h e  16  i n  t h e m u l t i p l i c a t i o n a t t h e r i g h t  w e r e h a l v e d ,  w h a t
w o u l d  t h e  a n s w e r b e 9
a ) 8000 b ) 2000 c ) 6000 d ) 9000

16  X 250  = 4 0 0 0

1 8 . I f  the 1 5  were doubled and the 60 halved, what e ffe c t would th is  
have on the answer to 1 5  X 60 ?
a) The answer would be doubled. ๖) The answer would be halved,
c) The answer would be unchanged.d) The answer would be 4

times as g re a t.
 ๆ9 . How w ill the answer to 40 X 6 25  compare with the answer to 5 x6 2 5 ? 

,a) You cannot t e l l  w ithout m ultiplying f i r s t .
๖) The answer w ill be 8 times as la rg e .
c) The answer w ill  be 35 times la rg e r .
d) The answer w ill  be 1/8 as la rg e .

2 0 . 7800  i s  how many times as g rea t as 78 ?
a) 10 b) 100 c) 1000 d) 1/100as g rea t
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2 1 .

2 2 .

How do you obtain the co rrec t ianswer to 35 X 64 ■? * *
a) M ultiply 5 X 64. M ultiply 3 X 64. Then add the 2 answers.
b) M ultiply 5 X 64. M ultiply 30 X 64. Then add the 2 answers.
c ) M ultiply 4 X 3 5 . M ultiply 6 X 3 5 . Then add the 2 answers.
d) M ultiply 3 X 64. M ultiply 50 X 64. Then add the 2 answers.
What i s  a quick way of finding the to t a l  number of 3 ’ร th a t 
can be sub trac ted  from 18 6 9  ?
a) Addition ๖) S ubtraction c) M u ltip lica tio n

d) Division
2 3 . I f  the 1 3 1 2  were 

would the answer
halved in  the 
be ?

d iv is io n  a t the r i g h t , what

a) 64 b) 16 c) 3.2* d) 1.6

41 ท  3 1 2

24. I f  the 41 were doubled in  the d iv is io n  a t the r ig h t ,  what 
would the answer be ?
a) 64 b ) l 6  c) 82 d) 3.2

32
4า 7 T 3T2L— ...̂  ....... . ■ -1..

At the request of headm asters, terms such as products, quo tien ts  and the lik e  were elim inated .
*1n examples, lik e  the one in  item 211 English ch ild ren  begin m u ltip lic a tio n  with the fig u re  in  the te n s ’ p lace . Item 21 appeared on the t e s t  for them as follows!

How do you obtain  the co rrec t answer to 35 X 64 ?
a) M ultiply 3 X 64. M ultiply 5x64. Then add the 2 answers.
๖) M ultiply 30 X 64. M ultiply 5x64. Then add the 2 answers.
c ) M ultiply 6 X 3 5 . M ultiply 4x35. Then add the 2 answers.
d) M ultiply 3 X 64. M ultiply 50x64. Then add the 2 answers.
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2 5 . In the d iv is io n  a t the r ig h t ,  how can the answer be doubled? 
a) Double the 2ๆ b) M ultiply 360 by 10
c) Double the 360 d) Divide 360  by 2 1 2  T 360

2 6 . What is  the answer to the d iv is io n  a t the r ig h t ?
a) 71 b) 70 0 1 c) 70 d) 70 1

j- 6~ r ^ 2oi™- |

2 7 . What is  the value of the 5 in  the d iv is io n  a t the r ig h t ?
a) 5 ones b) 5 tens _____ _______

! ' 5c) 5 hundreds d) 5 thousands II 1 6  ไ) 8000 I
2 8 . Which one i s  equal to 2 days 36 hours ?

a) 5 days 6 hours b) 3 days 16  hours
c) 3 days12 hours d) 5 days

2 9 . Which one equals the same amount of time as 6 minutes 20 seconds?
a) 5 minutes 80 seconds b) 5 minutes 30 seconds
c) 5 minutes 50  seconds d) 5 minutes 21 seconds

3 0 . Which i s  the co rrec t answer fo r the m u ltip lic a tio n  a t the rig h t?  
a) 21 h r. 72  min. 8 sec . b) 28  h r . 2 min. 8 sec.
c) 28  h r. 10 min. 28  sec. d) 22 h r .10 min. 28  sec.

h r.
3

min.
10

sec. !

3 1 . Which measure rep resen ts  the area of a room ?
a) k2 yards b) 86^ cubic yards c) 12 square yards

d) 1 5 1 2  inches
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3 2 . Which r e c ta n g le  has th e  g r e a te s t  p erim eter ?

*0npl
33.

a) b)
I 2 yd.

8 yd. 12 yd.
c ) d)

6 yd.

5 yd. 7 yd.

5 yd.

c h ild re n ,th e  decimal point in  a l l  numeralsthe t e s t  fo r the English acea a h a ll-sp ace  h igher.
How does the area of Square I compare with the area of Square II?
a) Twice as g rea t
๖) 3 times as g rea t
c) ^ times as g rea t
d) 1/2 as g rea t

8 yd
k yd.

Square I I

Square I
3km Which fra c tio n is  the sm allest วฺ

a) 1/16 ๖ ) ๆ/3 c) 1/8 d) 1/12
3 5 . Which frac tio n is  the la rg e s t วฺ

a) 1 / 1 6 b) 7 / 1 6 c ) 9/16 d) 1 1 / 1 6

36. What fra c tio n of the fig ure  a t the r i ght i s shaded ?
a) 1/12 b) 1/16 c ) ๆ/3 d) 1/6

Does each sec tion  of the square a t the r ig h t  rep resen t 1/8 of 
the to ta l  square ?
a) No, because the l in e s  go in  d if fe re n t d ire c tio n s .
๖) No, because the p a rts  are d if fe re n t in  shape.
c) Yes,because there  are 8 sec tio n s  a lto g e th e r .
d) Yes,because there  are 8 sec tions of equal s ize .

37
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38. How does the fra c tio n  3/b compare in  s ize  with 3/8? 
a) 1/2 as big ๖) I /b  as big c) Twice as large

d) b times as large
39. What fra c tio n  of an hour i s  50 minutes ?

a) 1/50 ๖) 50/1 c ) 5/6 d) 3/8
bo. How does the number of X ร in  Group I compare with those in

Group I I  ?
a) b/3 ๖) 3/b c ) b/7 d) 7/3

Group I xxxx
Group I I XXX

41. How long i s  Line I when compared with Line I I ?
a) 3 A b) 2/5 c ) 3/5 d) 2/3

Line I 1_
Line I I L_ ! _ [ ------- เ

b2.

b3.

bb.

In  which se t are the fra c tio n s  equal in  value ? 
a) b / 6,8 /6  ๖) 1 /2 ,1A  c) 5A 6, 1 0 / 1 6

d) 24/56,2 /3
Which fra c tio n  comes next in  th is  s e r ie s !  1/8 , 1/ b , 3 /8 ,1 / 2 5 ?
a) 2/8 ๖) 5/8 c) b/8 d) 7/8
A fra c tio n  of each of the rec tan g les  i s  shaded. I f  the fra c tio n s  
are to be added, which of the follow ing numbers i s  used as a
a denominator ? _____________________
a) 8 ๖) 12 c ) 6 d) 18  [
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95. A fter spending p a rt of his money, John had 1/5 of i t  l e f t .
What p a rt of h is  money was spent ?
a) You cannot t e l l .  ๖) 1/2 of i t
c )  9 /5  o f i t  d ) 2 /10  o f  i t

96. Which one of these add itions could be done by m u ltip lic a tio n  ?
a) 1/9 + 1/3 b) 1/3 + 1/3 + 1/5
c) 7/8 + 1/9 d) 3/9 + 3 / b + 3/b

9 7 . Which of the diagrams shows 3/b of 8 ?

98. Which diagram shows 3 1/3 ?

□ □ ŒD

9 9 . Which diagram shows 1/3 3 ?
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5 0 . Which of the numbers i s  equal to 1/10 ?
a) .1 ๖) .010 c) .001 d) 1.0

51. Which of these numbers i s  the la rg e s t  ?
a) 3 . 5 ๖) 3 . 1 6 5 c) 3 .2 8 d) 3 .0 0 6 5

ณํin Which of these numbers i s  the sm allest ?
a) 6.0 ๖) 0 .0 6 c ) 0.6 d) 0 .0 0 6

53» How should th ree  hundred th i r ty - th re e  and two hundredths be 
w ritten  ?
a) 333.200 ๖) 30033.02 c) 333.002 d) 333.02

9k. How does the 5 on the l e f t  compare with the 5 on the r ig h t in  
the number .5 0 5  ?
a) 10 times g re a te r  ๖) 1/10 as g rea t
c) 100 times g rea te r d) 1/100 as g rea t

55. In the ad d itio n  a t the r ig h t ,  what number i s  c a rr ie d  ? 
a) A one ๖) One ten th
c) A ten  d ) T e n  ones

5 6 . How would the removal of the decimal point in  7 . 2  a f fe c t the 
number ?
a) I t  would add 10 to the number.
๖) I t  would make the number 1/10 as g re a t.
c) I t  would make the number 10 times as g re a t.
d) I t  would not change the s ize  of the number.

57. Which answer i s  most nearly  co rrec t for 6.1 X 2 . 9  ?
a) 1 2  b) 18  c) 1 . 8  d) 1 2 0

1 . 7  ! 
+1 .8

5 8 . Which answer i s  most 
a) 12 b)

c le a r ly  co rrec t 
.12 c)

for 2k .2 ~~ 2.99 
8 d) .8

ç>
12
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5 9 . How w ill  the answer be a ffec ted  i f  the decimal po in ts are 
moved one place to the l e f t  in  both 8 6 .2  and in  7 9 -8  ?
a) I t  w ill  be 10 times la rg e r .
b) I t  w ill  be 1 / 1 0  as g re a t.
c) I t  w ill  be 100 times la rg e r .
d) I t  w ill be 1/100 as g re a t.

6 0 .

61

6 3 .

What w ill  be the e f fe c t on the answer i f  the decimal po int i s  
moved one place to the l e f t  in  3 8 .2  and one place to  the r ig h t
in  1 .6 9  ?
a) The answer w ill be the same.
b) The answer w ill be 100 times la rg e r .

The answer w ill be 1/100 as g rea t.
The answer w ill  be 1/10 as g re a t.

c ) 
d)

3872" 
x1 .6 9

Which statem ent i s  co rrec t fo r the m u ltip lic a tio n  a t the rig h t?
a) The answer w ill  be la rg e r than 3 2 5 *
b) The answer w ill be sm aller than 3 2 5 .
c) The answer w ill  be 7k times la rg e r than 3 2 5 »
d) None of th ese .

3 2 5

x.7k

What would happen to the answer in  the d iv is io n  a t the r ig h t 
i f  both . 3  and 21 were m u ltip lied  by 10 ?
a) The answer would be 10 times la rg e r .
b) The answer would be 100 times la rg e r .
c) The answer would be 1/100 as g rea t.
d) The answer would be unchanged.

21 -Ï- .3  =

Gk. Which decimal beloF/ is  equal to 2 ten th s  and 1 7  hundredths ?
a) . 2 1 7  b) 2 . 1 7

c) .37 d) . 1 9
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แบบหคลอบความเชา1ใจพีนๆานไฆ'วิชาควัฅคาฟึฅร

ทำชีแจง
I I  น I เ  1

จงอานifbหาแคละซออยางระมิคระวัง เลือกทำคอบหีนกเรียนคิควาถูกเพียงทำ 
คอบเคียว โคยหาวงกลมรอบทยิก;ชนะนน ในกระคาบ■ ทำฅอบ ใหฅรงฅามขอทำถาม

I
ต้วอยาง

.ๆ เลขหีเปนหวักหนวย ของจานวน 102 คือ

ก. 1

ซ. 0

ค. 2 เ เ น
ง . ไมมีทำฅอบหีถูกฅอง

I Y  1 2 / 1 /  น J/
ในหีนีทำคอบหีถฺกฅองคือ ขอ ค. ใหวงรอบm l1;ชนะ ซอ ค. ในกระคาบทำคอบ 

11
ทีแยก?ทงหาก

หงหมคมี 63 ขอ ให เวลาห า ทํ5 นาที
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เลขจานวนทีมืคานอยทีฝืคคือ
ก. 12435
ข. 12543
ค. 12345
ง . 12453

เลขจานวนทีมีคามากทีฝ็คคือ
ก. 76523
ซ. 76352
ค. 76532
ง . 76325

3 . จานวน 209456 เลขหล้กหมืนคือเลข 
ก. 2 

ข. 0

ค. 9 
ง . 4

4 .  จานวน 202 เปรียบ เทียบ เลข 2 ในฅาแหนงหางชายมือ fill เลข 
แลว เลข 2 หางชายมือจะเปน

ก. 10 เหา ของ เลขในฅาแหนงหางขวามือ
ข. 100

I
เหา ของ เลขในฅาแหนงหางขวามือ

ค. 1
1

เหา ของเลขในฅาแหนงหางขวามือ
ง .

10
1

Tôo
1

เหา ของ เลขในฅาแหนงหางขวามือ

ในฅาแหนงหางขวามือ
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5- จานวนฅอไปนี จานวนหีมีคา เหาก*บ 1 ในหลักรอย 9 ในหลัก9บ นละอีก 11 ในหลัก
หนวย

ก. 1911 
ข . 201 

ค. 191 
ง . 110 1

6 .
น I l  v u

ถ าเอ า 0 ไปคนระหวางจานวน 37 แลว จะห’าให 
ก. เลข 3 และ 7 มีคามากขนเป็น 10 เหา 
ข. ไม 3 ก 7 จะเปลียน
ค. เลข 7 จะม ีคาคงเค ิม น?ทอข 3 เปลียนไป 10 เหา

1 I I '
ง . เลข 7 จะม ีคาคงเค ิม แฅเลข 3 เปลียนไป 100 เหา

7 . จานวน 15^6 มีคา
ก. 15 ในหลักรอย ^ ในหลักสิบ 6 ในหลักหนวย

น

ข. 15 ในหลักรอย และ u 6 ในหลักสิบ 
ค. 15 ในหลักรอย ^0 ในหลักสิบ 6 ในหลักหนวยI
ง . 15 ในหลักสิบ ^6 ในหลักหนวย

8 . ในการบวกเลขในของลีเหลียมขวามือ จานวนหีหคขืนไปคือI
ก. 2 ในหลักหนวย 
ข. 20 ในหลักหนวย
ค. 2 ในหลักสิบ
ง . 1 ในหลักสิบ

16 

+39 
I 29
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9 .

10 .

ในชองลีเหลียมขวามือ ถาเอาวานวน 70 ไปไวขางลาง 
แลว ขลบวกวะ เป็นอยางไรJ/ I

ก. ขลบวกวะนอยกวา 200
ข. วาเป็นฅองหายลฅางของยลบวกหงลอง

y

ก. ยลบวกวะมากขน
ง . ผลบวกวะกงเคิม

และเอา 35 ไปไวขางบน

70
+ 37

89
35

วานวน 20 ประกอบควยยลบวกของ 5 และอีก 
ก. 25 
ข. า5 
ก. 1 : ไ

11 . ในการลบเลขในกรอบหางขวามือ กำคอบหีถูกฅองหีสืค ลือ
ก. ยลลบมากกว่า 2000 I
ข. ยลลบบวกลืบ 17609 วะเหาลืบ 30864

1/ I
ก. ยลลบลบควย 17609 วะเทาลืบ 30864

น I
ง. 30864 ลบควยยลลบ วะมากกวา20000

12 . ในการคูพเลขหางขวามือ ขนคอไปลือ
ก. หคซีนไป 2 หนวย
ข. ในหลีกสิบ รวม 2 ลืบ 3
ก. ในหลีกสิบ รวม 2 ลืบ 18I 1 / 1 1 /  1/
ง . ไม-หาคามขอห•นงซอ'ใค'ในขอ ก ,ข ,ก

30864J
17609”
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า3 . เลขขอใคหีเมือคูนก้นแลว จะมืการหอในหลักรอย คือ
ก. 3 ^ 3 X 

___ 3

ข. 521^X 
3

ก. 1^-Olx 
3

ง . 1233x 
___ 3

^ 1 4 . ในการบวกเลขจานวนเหา  ๆ ก้นหลายจานวนใหไคคาฅอบเร็วหีสุค เราใซ
ก. วิธีบวก
ข. วิธีลบ
ก. วิธีคูน
ง . วิธีหาร

า 5 . จะหารากาของของหีหานซือหลาย  ๆ อยาง แคละอยางมืราคาไมเหาก้น เราใซว ิธ ี
ก. บวก
ข. ลบ
ก. m11
ง . หาร
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16 . ถาเปลียนเลฃฅ~วฅงจานวน 250 ในกรอบหางขวามือ ใหเป็น 2 เหาแลว ขลคูณ'จะI
เหาก้บ

ก. 8000

ข. 2000 -----------------------------------250 X 16 ะ 4000
ค. 6000 

ง . 9000
ร/ I 1 / 1 1  I

17. ถาเปลียนเลขฅ้วคูณจานวน 16 ในกรอบหางขวามือ ใหลคเหลือกร ึง หนึง คำคอบ'จะเหากil
ก.
ข.
ก.
ง .

8000

2000

6000

9000

250 X 16 = 4000

18 , เมือ 15 เป็นฅํวฅํง 60 เปนฅ้วคูณ คือ 15 X 60 ถาเราเห ิม ฅ ้วคง คือ 15 ใหมากขืน๔ I น V I I 1/ ร/
เป็น 2 เหา และเราลคฅ้วคูณ คือ 60 ใหนอบลงกรงหนง จะหาใหยลคูณไคคำฅอบค้ง- 
ฅอไปนี

เป็นลอง เหาของ 15 X 60 
เป็นกรึงหนงของ 15 X 60 
ไมเปลียน
เหิมเปน 4 เหาของ 15 X 60

ก.
ข.
ค.
ง .

19, คำฅอบของยลคูณ 625 X 40 มากกวา 625 X 5I I
ก. คำฅอบจะมากกวาก้น 8 เหาI I
ข. คำฅอบจะมากกวาก้น 35 เหาI I
ก. คำคอบจะมากกวาก้น 1 เหาI 1/ ^ 1 1 / I
ง . ไมสามารถจะบอกไคจนกวาจะไคยลคูณออกมากอน
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2 0 . 7800 มากกวา 78 เป็น
ก.
ข .

ก.
ง .

10 เ ใ/ท
100 เหาI
1000 เหาI

1 เหา

2 1 . กา

1000

รคูโน 64 X 35 จะหาล่าฅอบไคโคย 
ก. 64 X 5 และ คูโน 64 X 3
ข. 64 X 5 และ คูโน 64 X 30 แลวเอาฆลคูโนมารวมก้น

แลว เอาขลคูโนมารวมกน

64 X 5 แ ล ะ  คูโน 3 5  X 6 แ ล ว เอ า ขธ ค ู โนมารวมก ้ น
1/

I. 64 X 5 และ คูโน 64 X 50 แลวเอาผฉคูโนมารวมก้น 

2 2 . วิธ ีห ีเทหีส ุคหีจะหราบวามี 3 ทีPITง ในเลขจานวน 1869 อือ

ค .

ง 1

ก.
ข.
ค .

ง.

วิธีบวก 
วิธีลบ 
วิธีคูโน 
วิธีหาร

2 3 . ในเลขจานวน 1312 ในกรอบหางขวามือ มี 41 อยู 32 กรง อือ 1312 -4- 4 '1/ เ/ I I Î/ ’น  %/ I

กาลคจานวน 1312 ใหนอยลงครืงหนึง แลวหา รควย 41 จะไคล่าฅอบเหาก้บ
ก.
ข .

ค .

ง .

64
16

3 . 2

32
41 )  1312

= 32

1.6
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24. ถา?ทหารคือ 41 หางขวามือ เพิมขึน เปนสองเหา ยลหารจะไคคาฅอบเหาก*บ
ก. 64 
ข. 6ๆ 

ก. 82

 ๆ2
41 ใ  13 12

ง. 3 .2
V ÎS ร  ๔  I  V

2 5 . กาจะใหฆลลัหธซองยลหารหางขวามือเป็น 2 เหาจะคอง 
ก. เไม 12 เป็น 2 เหา
ข. เใไม 360 เป็น 10 เหา j------ —— :

4. . 12
ค. เพม 360 เปน 2 เหา ะ----------------%/
ง. หาร 360 ควย 2

2 6 . ในการหารหางขวามือ ยลหาร คือ
ก. 71 
ข. 7001 

ค. 70 
ง. 701

27 . เลข 5 หางขวามือมีคาเปน
ก. 5 ในหลักหนาย
ข. 5 ในหลักลิบน
ก. 5 ในหลักรอย
ง. 5 ในหลักไน

2 8 . 2 วํน 36 ช้าโมงคือ I __
ก. 5 วน 6 ช ้า เม ง »
ข. 3 ว น า 6 ช้าโมง
ค. 3 วน 12 ช้าโมง

6 5 4206

3
า6 ใ> 8๐๐๐

ง. 5 วน
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2 9 . 6 นาที 20 วินาที คือ
ก. 5 นาที 80 วินาที
ข. 5 นาที 30 วินาที
ค. 5 นาที 50 วินาที
ง. 5 นาที 2  ๆวินาที

3 0 . ยลพู่ในกรอบหางขวามือมีคา เหากับ
ก. 21 ซ*ว ม̂ง 72 นาที 8 วินาที
ซ. 28 ชํ่V !มง 2 นาที 8 วินาที ซิวโมง นาที วินาที
ค. 28 ซิว ม̂ง 10 นาที 28 วินาที 3 10 น

X
1
tu C 7

ง. 22 ซว 1มง 10 นาห่ 28 วนาห
1 V 1 น 1

3 1 . หนวยกาทไททีนทีของหองเรียนทีถูก?,!องทีสุก คือ 
ก. า2 หลา
ข. 86̂ 1 ลูกบาศกหลา 
ค. 12 การางหลา 
ง. 1512 นิว

3 2 . ฝ ืเหลียมรูปท ีม ีเฝืนรอบรูปยาวทีสุก คือ 
ก.

 ̂ หลา
8 หฝืา

ข.
2 หลา

12 หลา

ค.

6 หลา 5 หลาI
J

5 หลา 7 หลา
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33.

3 ^ .

35.

36.

เปรียบเทียบพืนทีรูปส ิเหลียมฬ ุ้รส  รูปที 1 ทบที 2 

รูปที  ๆ ไหญเป็น 2 เหาของรูปที 2 

รูปที 1  ไหถ : เป็น 3 เหาของรูปที 2 

รูปที 1 ไห ญเป็น 4 เหาของรูปที 2 

รูปที 1 ไหญเป็น 2  เหาของรูปที 2

ก.
ข.
ค.
ง.

เศษสวนทีมีคาบอยทีสุค 
ก. 2 _

ไๆโ
ข. 2  

3
ค. 2  

ไโ
ง . 2 _Ï 2

I I I I
เศษสวนทีมีคามากทีสุค 

ก. 
Ïๆ Z

ข.
h

ค. 91ÏÏ
ง.

1 1

11
1ÏÏ

สวนทีระบา ยสีค''
ก. 172
ข. 1ÏÏ
ค. 1

3
ง. 1

8 หลา

รูปที 2

เหากบ

y

^ หลา
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37.

38.

39.

9 0 .

สวนยอยแฅละรุปในสีเหลียมจพสหางขวามือ เหากับ 1V 1 1 ’ , ไ, .ร่
ก. ใมใช เพราะวาแฅละ เสนใปฅามหิศหางฅาง ๆ กันI I I I I  I
ข. ไมใซ เพาะวาแคละสวนรฺปฅาง ๆ กัน
ก. ใซ เพ าะวาม ี 8 สวนควยกันI I I I
ง. ใซ เพ าะวาม ี 8 สวน เหา ๆ กัน /

V I I
เปรียบเหียบขนาคของ 3 กับ 3 แลว 3 จะใหนุ;กวา 3

i  i  i  ïï

เทียบอ้ฅราสวนของ X ในกลมที 1 กับกจุมหี 2 ในกรอบหางขวามือ ไคคือ
ก. 9 ะ 3
ข. 3 ะ 9
ค. 9 ะ 7
ง. 7 ะ 9

1 1
กลมหใ 14

1 XXXX
กลมห 2 XXX



4 า . เสนที  ๆ เปรียบเทียบกํบเสนที 2 จ ะ . เปนอ้ฅราสวนก’ I
ข. 2 

5
ก. 2

5
ง. 2 

3
1/ I I I I I

42 . ขอทีเคนสวนทีมีคาเหาก้นคือ
ก. 4 ,

£  Z
ข. 1, 1

2 ?

2/ 1
เสนที 1 I_______)_______ [

เสนที 2 I-----------1-----------!----------- 1

ค. 5 , 10 %  TS
ง. 24 , 2 

3ร 3
43. เศษสวนวานวนใคทีมีคาเรียงลาคํบวาก

ก. 2 ร ิ
ข. 5 ร ิ
ค. 4 

ร ิ

1, 1, 3, ๆ _____ 9I 1--------
ÏÏ ร ิ 2

ง 7
ร ิ
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99-. โทเอาเศษสวนของฅอนที’ใคระบายสี'ใวหงหมคมารวมก้นหาเฉพาะสวนของเศษสวนทีไค 
เป็น

ก.
ข .
ค.
ง .

8

12

6

18

1
รุ่̂

โ โ ร

1_________ ฒ H

95.

ง .  18  I T  ฒ « ส ิJ— 1 3

เมือใซเงินไปแลว แคงเหลือ 2  ของหงหมก เขาใซเงินไป 
* 5

ค.
ง.

9 6 . การรวมเ

ก. 2  ของหงหม?' 
ร ิ «ซ. 9 ของหงหมคIของหงหมค

I V

คคอบไมไ1
» I นุ V  I 1 /1 /

ศษสวนคอไปนี ฃอทีห่าไคควยวิธีคูโน กอ
ก. 1 + 1

¥ 3
ข. 1 + 1

3 3
ก. 7 + 1

B ¥
ง. 3 +¥ ¥

2
5

97.
ก.

คาคอบใคทีแสคงแขนขังรูป 3 ของ 8
ข. ค.

ริริท (ร;กิ□ แ
□  □  □  □

|แ ฒ □
ง.

□ □□□«I l i D I l l l 1 xZi
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9 8 . แขนข้งหีแสคง 3 4 - 2  คือ
3ท* 'ปี* Pu  ̂•

9-9. แขนรฺปหีแสคง ๆ-ะ - 3 คือ
3

ก. ข.! T ฒ
I N-Mj___ !

L P

5 0 . หกนิยมหมกาเปน 2 _  คอ
ÏÔ

ก. .1

ข. .010  
ก. . 00  ๆ
ง .  ๆ. 0

5 1 . หกนิยมหีมีคานากหีสุค คือ 
ก. 3 .5
ข. 3 .1 6 5  
ค. 3 .2 8  

ง. 3 .0065

น : น  น ิ

ก. ง .
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5 2 . หศนิยมหีมีคานอยหีลุค คือ 
ก. 6 .0  
ข. 0 .0 6  

ค. 0 .6
ง. 0 .006

53. วะ เขียนลามรอยลามสิบสาม และอีก _2_ ไคคือToo
ก. 533 .200  
ข. 30033 .02

ค. 333.002  
ง. 333.02

5^. ใน เลข1ทนวน .505  เลข 5 ในฅาแหบงหางชายมือ มืคาบากกวาเลข 5 ในฅาแหนง
๘หางขวามอ เปน 1

ก. 10 เหา
ข. เหา

1
ค- ๆ00 เหา
ง. ๆ

TÔÔ เหา

55. ในกาททกเลขในกรอบหางขวามือ เลขหีหค คือI
ก. 1 หนวย
ซ. 1 สิบหลังหศนิยม
ค. 1 สิบ I
ง. ๆ0 หนวย หลังหศนิยม

+ า . 7
ๆ .8
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U  X J  f l u

ถา เอาจุพ)ศนิยมของจาน'วน 7.2 อธกแลว ยลล้พธหีไค
' J  Iก. เหากับเอา า0 ไปบวกกับจานวนนนบ I

ข. จานวนมากขนอีก 1_ เทา
Ü Jf •ก ั0 1ค. จาน-วนนนมากขนIปน 10 เหา

ง. ไมหำ'ให-จาน-วนนในปลียนแปลง
ยลกูพหใกลเคียงของ 6 .  ๆ X 2 .9  คือ 

ก. 12 
ข. 18 

ก. 1.8 
ง. 120

58. ยลหารทีใกลเคียงทีอุคของ 2 k . 2  นุ- 2 .9 9  คือ
ก. 12 
ข. .12 
ค. 8 
ง. .8

1/ I น I
59. ถาเลือนจุคหศนิยมของจานวน 8.6.2 กับ 79.8 ไปหางชายมือ 1 คาแหนง

1 ไ ' '  ' ไ •ก. จะไคมากกวาเคิม 10 เหา
ซ. จะไคเป็น 1_ เหาซองจำน-วนเคิม I 86.2x|
ค. จะไคมากกวาเคม 100 เหา 79.8 ;
ง. จะใคเปน 1 เหาของจานวนเคิม ______

Too

18 6 ก ั  7 9 . 8  ;

1'

56.

I บ
ยลคูผหีไค



95

6 0 .
ร/ ! น I lถา เลือนจดหศนิยมในกรอบหางขวามือของ 3 8 .2  ไปหางขาย า ฅาแหนง และเลือนt u  l u. 1** ,  . ฯ ,  O ^ ฯ/ดหศนิยมของ า. 69 ไปหางขวา 1 คาแหนงแลว ยลพแหไควะ

62,

ก. คงเดม
ข. เป็น 100 เหา
ค. เป็น 1Tôô เหา
ง. เป็น

h

1เหา
I น น I

6 1 . เมือกูโแเลขในกรอบขวามือแลวจะไควา11 Iก.
ข.
ก.
ง.

ผลกู£แจะมากกวา 325 
ยลกูผจะนอยก-ไท 325I I Iขลกูโแจะมากกวา 325 อยู 79 เหาI ̂  I น นไมมีกิาฅอบหีถฺกฅองในขอ ก, ข, ค.

325

1. 7^'

เอา 10 คูณหง 2 1 และ .3  ขลล้พธหางขวามือ 
ก. จะเป็น 10 เหา
ข. จะเป็น 100 เหา
ค. จะเป็น 1 เหา

21 — .3 =
1Q0ผลกู'Eแกง เดม

63. หศนิยมใคหีมืคาเหากิบยลบวกของ 2_ กิบ 17_
1 0  Too

ก.
ข.
ค.
ง.

. 2 1 7
2 . 1 7
.37

19
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บ??ผานุกรม

กามาไหย
f  V V 1 ๙' ^

นิลุบล นิยมานนห หักนะของซาในจาเกีย'วก*บการสอนกผิฅคาสกร วา?ลว?คณิฅกาลค?
ปริมา 8 ฉหับที 76 มกรากม 2506

มงคล ลีหโสภผ วิธีเรียนคณิฅศาลฅรป้จนุบิน วา?ลา?คณิตกาลค? ปริบา 9 ฉบ*บที 97 
คุลากม 2507

จง?*กบ ไก?นาม คาแหนง เปอ? เชนฅไฅลมาตร‘ทนของคะแนนจากกา?หคลอบกวาม?หาง 
คณิฅกาลค?ของนไไเรียนชนประถมนิที 6 ในตนนิกา?กึกบา 2506 วิหยานิพนธ คน!ะ 
ค?1กาลค? นุฟ้าลงก?ผมหาวิทยาลัย 2506

เซาวลิฅ หัวล?วง กา?กกบาเรีองคาคอบฆิคในกา?บวกเลขหลักเคยวชองหักเรียนชนประถม 
ป็ที 1 โรงเรียนประชาบาล และเหกบาลในจ*งหหัคพระฆค?และธนบุรี วิทยานิพนช 
มหาบํนเวิเฅ วิทยาลัยกา?กกบาป?ะลานมิค? 2507

หองจิฅ อิว?คน ตาแหนง เปอ? เซ็นคไคลมาค?ฐานของคะแนนจากกา?หคลอบความรุหางคณิต
ก า ล ต ? ข อ ง ห ั ก เ ร ี ย น ช น ป ร ะ ถ ม ป ็ ท ี  7  ใ น ต น น ิ ก า ? ก ึ ก บ า  2 5 0 6  ว ิท ย า น ิ พ น ธ  ค ผ ะ ก ? ก า ล ค ?

นุปาลงก?ผมหาวิทยาลัย 2506

บุ? คุลพพ)? ผลลัมฤทธิในกา?เรียนวิชา เลขคณิฅของหักเรียนทีจบชนประถม!!ที 4 ในภาค 
กึกบา  ๆ วิทยานิพนธมหาบ*ผฑิค วิทยาล*ยกา?กึกบาป?ะลานมิค? 2507

ประคอง คไนสกีฆ? กา?ลอนคณิตกาลค?หัวไปในชนหันยมกึกบา วิทยานิทนธ คน!ะกรุคาสค?
นุฬาลงกรน!มหาวิทยาลัย 2501

ป?ะหม หับหมหอง กา?ลา?วจวิธีสอนวิชาคณิฅกาลค?ในซนหัธยมกึกบาคอนคนในลังหหัคพระนก?
’ “ ^----- ^---- , ---------------- ,-----------  ------^----- 7  "  ----------------

และธนบุรี วิทยานิ™ธ คอ!ะกรุกาลค? นุเทลงก?นมหาวิทยาล*ย 2506 

พนอใจ กึริยงก กา?สา?วจความลามา?ถของเค็กซ็นประถม!เทีลองในโรงเรียนป?ไบปรงซน- -y " 7  y — L- --------------7 7 — —  I ' -ÿ - /  1 ✓
ประถมกึกบาเกียวก*บวิธีบวกลบเลขถามลาคับขน พ.ก. 2504 วิทยานิพนธ กน!ะครุศาลค?
น ุฟ ้า ล ง ก ? น ! ม ห า ว ิท ย า ล * ย  2 5 0 4
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พรอม พานิขภ้กค คพิฅศาฟืฅรทีนาสนใจ ฉบบแปล โรงพิมพสานักนายกร*ไมนตรี 2 5 า0

ภรฌี คิริยง m n  คาแหนงเปอรเข็นตไคลมาตรรานของคะแนนจากการทตสอบความรุหาง 
คพิฅโh สูตรของนักเรียนชนประถมุทีที 9 ในคน!เการมกบา 2506 วิหยาใ]พนธ คโนะ 
กรุโ!าสฅร จ'ปาลงกรโนมหาวิหยานัย 2 5 0 6

ศกบาธิการ กระหรวง หนักสูตรประโยคประถมศกบาฅอนปลาย พฺหธนักราช 2503 โรงพิมพ 
ครุสภา 2506

วิภา จิฅฅนักตี การเปรียบเทียบกวามุสาเร็จในการเรียนเลชคพิคชองนักเรียนชนนันยมศ่กบา 
นีทีหนีงระหวางโรงเรียนร*ใ.บาลนับIรงเรียนราบฏร วิทยานิพบบ ศถ;ะกรุศาลฅร 
จุฬาลงกรณมุหาวิหยานัย 2505

I %/ I v  %ร
วซิ เยาวภา ระนับความยากงาย การจาน.นกเปนรายซอและความเซือถือไคชองชอทคสอบแบบ

นัมฤหขิฆฟืซนประถมนีที 4 ,5  และ 6 วิไ/)ยานิพนธ คโนะครุสาสตร จแาลงกรโนมหาวิทยานัย 
2 5 0 6

สูรีย เกิคขล การจู้คการเรียนการสอนคพิฅกาฝ็ฅรคามหนักสูตรขนม้ไยมศกบานีที ใ พ -ศ .2507 
วิหยานิ,พนธ คโนะครุกาสูตร จุฬาลงกรโนมหาวิทยาลัย 2507

อาร ี เพซรนค การสรางแบบหคสอบเลขคพิตซนประถมบ็เทีหนีง และศกบายลสู*มฤทธิทางคพิฅ-  
ศาสฅรของนักเรียนนันประถม!]ทีหนีงจากโรงเรียนสุมนัวอยาง าา โรงในภาคศกบา 1 
วิหยานิพน,ช มหานัโน'ทิต วิทยานัยการรีเกบาประสาบมิตร 2507

อุไร เจริญพงศ การนัคค’วามส้มฤทวิผล1ในการ เรียนคพิฅศาฟึตรุของนักเรียน'ในโรง เรียนตาม 
หนักสูตรชนมธุยมรีกบาที'ทีหนีง พ. ศ. 2505 วิทยานิใ'ทบ่ม คโนะครุโ!าสฅร จุฬาลงกรโนมหา 
วิทยานัย 2 5 0 8
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